MATHEMATICS FORM 4 PAPER 2 MARKING SCHEME

1. Use lagarithm tahle o evaluats
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and [-2,-6) respectively. Find the eguation of the circle in the farm
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MATHEMATICS FORM 4 PAPER 2 MARKING SCHEME

4, Use completing the square method Lo selve The eguation
q-3u-2wd =] (3marks]
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MATHEMATICS FORM 4 PAPER 2 MARKING SCHEME

75 Use matrix method to solve the simultaneous equations
2x+y=10
2x +2y =14 [3marks)
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8. (a1 Expand [1+2x)F to the fowrth tern, (1 rark)
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a. [Lis knawa Lhal the value of Jand appreciate at 7% 2.2 tn a town, John boughe a plot

in Lhe lown at Ksh 500,000, Given that he plans to sell the plot after & years, find aut
how much profit he expects to get. {Give your answeer carrect to the nearest
thousand). w (3marks)
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10.  The mass of a wire varies jointly with its length and with the square of its diameter.
Asection of the wire S0 long, with diameter Smm has amass of 315k swhal is
The miass n_!l:l O0rm o vweire ol digmeter 2mm? {3marks]
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13.  Usethe figure helow to answer the question that follows

// \ 11 83cm

1Zcm

R Q
Given thalangle RSQ = 507 SQ= 1183 v and QR=12c¢m.A ciccumcirle is drawn on
the triangle. Find the radius of the circle (Zmarks)
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14. A husiness man bought commodity A and commodity B at shs.60 and sh.72 respectively. In
what rat:o musthe mix sa thar when he sells ot shs é8. {3 mavks)
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15, Poincs A" X500 Hyanc B &30 are 1933 kilametres apart. Taking R= 6370

22 .
kmand r=—.find the value of & [Fmarks)
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16 Findd the pradient function of the curve ¥= 4x% - 122 + 9% + 1 hence, tind the
gradient of the curve at point [1,-24) [Amarks)
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17.  Used scale of 1:1 o both axes to deaw the graphs of y=x* - 6x+7and y=x 2for
the domain < x < 6. The point of intersection of the two functions sacisfira certain
quadratic equation in x. OhLain the cqualion in x hence caleulale iUs solulions, Give

nswarcarrect L 2d.p. (10 marks) A b
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15. Points A and B are centres of two equal circles of a radius 2 cm and L0 cm apart
i, Construct Chee o circles in the space given nelow. [ Irmarl]
ii.  Construct the transvarse commuon langenls L bolh circles. [&marks]
AN
fii. Calculate the length of the belt round the two dircles (Take #="" )
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19, Albert, Bonny and Charles competed in 4 game of chess. Their probabilitics of

winning the game are /s, 35 and Ly respectively.

(2)  Draw a probability oree diagram to show a1l the possible outcomes.(2 marks)
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(b)  Caleulate the probability that:
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(if)  Only onz of them wins the game. {2 marks]
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20, Construct rhombus ABCD such that AB=BC= fem and ~ ABC=A0
(a] MeasurcBD.  {{* Hcm [1 marl]
(b)) Crre Lhae s mer diapeam, consteoeh Uhie inscribed cieche ol eiaoghe ACDL (Gmarks)
(] Construct the locus of points equidistant from A aad © [ marks]

[(d}y  Mxisapointonthe circleinb al.pve such that AX=XD and £AXD is acute, find

the locus af X and male itan the diagran. [ marls]
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21. (a) Complete the table belowe,

[

(Zmmarks)
X 80" 1500 | -120¢ -90% [ -60° [-308_0v [ 300 a0 90° | 1200 | 150° e s
Y=Zeosx =2, 73 |l o |1 93 2 [4211 o |=t [~f-#7f- f
Y=cos(x-pl}  -0.5 -8+F | = | 09 w050 e 5|07 o-7le-¢c1 0 [0 5 | 6
{(b) On the same axes plot the granbs of y= cos{x-60") znd y = 2 cosx {usc a scale of lunit
for 309 on Lhe x axis and 1 un:t for 0.5 units on the y axis) (4mrks)
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(d}  State the period and amplitude of ear h afthe Wavm above. [1mark]
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(c)  Using the graph abave determine the values of x for which
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and BFC ave equilaleral Lriangles. Calculate

The height of E above the base ABCD
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The rovl of a bulding is as shown in the Jgure above with a rectangular hase ARCT.

AB =20m anc AD = 8m. The ridge ['T = 10m and is centrally placed. The faces ADE
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23.  Kiprop has at least 50 ares of land on swhich he plans to plant potatoes and cabbages.
Each are of potatoes requires 6 men and each are of cabhages requires 2 men. The
farmer has 240muen available and he nlml I)ldlll al leasl 1,0 ares ufpumtoea The

{[ Ot ja i TL0G e
pralit.an polatoes is kshs.1@00 per are, T he planis x ares of wmtoeb and yares of
caboages;
[a)  Write down 3 in equalities in xand ¥ to describe the nformation.(2 snacks)

(b)  Representthese in equalities graphically, (use a scale of 1:140 for both axes)

[4 marks]
[c) Use your graph to determine the number of acres for each vegerable which
will give maximum prafit. (4 marks)
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24, [a) Complete the table below Tor = ® 3x0 Sinthe range 222 <8 [Zmarlz]
X 2 3 4 5 6 7 E
¥ 3 = E (=) 23 33 -H-‘r.s

() Use the trapeziom rule with six strips to estimate the arca enclosed by che curve, ¥-
Axis Al The lines =2 amd x=H. [Frarks)
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[d] Calealate the pereentage errorin che area. (2marks)
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